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BRE 1: (RX=aR<L"TEHE&-V) Wow, this
is amazing! I never thought I . d be

throwing pears in Japan!

BRYE 20 (Y% =X <7 #5KL%0) This is

absolutely bonkers! I love it!

BRE 3 (R—X-L2nNnahN<"KIZ%O)
Mate, this 1is the best festival ever! So

much fun!
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BRMN 1: (K2 LS 0O) Ican't believe how
much fun this is! We need more festivals

like this back home!
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BRYE 20 (Y= xX<" BEQKELL V)
Thank you for organizing this! It was

unforgettable!

BRE 3: (R—X~LmMaKN<"¥EWV)Can't
wait to tell my friends about this back

home. Cheers, mate!
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